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BEE 1 BHRhORESBE%R 17 BHhoRNEE%R
e EEST MR | BHE | BE | NEERAEN | A (E2E3tx308)
ZRE (2 A E) 3 840 2,915 87,450
=FE ZKRE (4 ABPE) 22 695 2,915 87,450
El= 6 1,150 3,225 96,750
ZRE (2 A E) 2 840 204 2,924 87,720
HHRE El= 14 1,150 1,380 3,234 97,020
I=w NRUE R 44 1,970 776 4,126 123,780
LAS Iy REUMEZE 50 1,970 776 4,126 123,780
my= -y REMEZE 20 1,970 785 4,135 124,050
IO Iy REYMEZE 29 1,970 785 4,135 124,050
EE 4 1 BaioNeEZ 1 ABRIONSER
o REAT MR | BEE | BE | NEERAEE | A (Eastx308)
ZKRZE (2 AEE) 3 840 2,983 89,490
== ZKRE (4 AEE) 22 763 2,983 89,490
&= 6 1,150 3,293 98,790
ZKRZE (2 AEE) 2 840 2,994 89,820
774
HHRE E= 14 1,150 1,380 3,304 99,120
Iy RBYMEZE 44 1,970 843 4,193 125,790
LA Iy RBUMEZE 50 1,970 843 4,193 125,790
Yy Iy RBMEZE 20 1,970 854 4,204 126,120
LU Iy RBUMEZE 29 1,970 854 4,204 126,120
E & 5 1 BarRhoReE% 1y EBRIOR S
e EEST MR | BHE | BE | NEERAEE | A (E2E3tx308)
ZHKE (2 NEE) 3 640 3,049 91,470
=FE ZRE (4 ABPE) 22 829 3,049 91,470
El= 6 1,150 3,359 100,770
ZRE (2 A E) 2 840 841 3,061 91,830
HHRE A= 14 1,150 1,380 3,371 101,130
Iy RBEYMEZE 44 1,970 910 4,260 127,800
LAS Iy REYMEZE 50 1,970 910 4,260 127,800
my= Iy RBEMEZE 20 1,970 922 4,272 128,160
IO Iy REYMEZE 29 1,970 922 4,272 128,160
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